

Since u does not have spatial flux, we can solve v and q from the last two lines of equations, then go back to the first lineand integrate v in time to get u.

Path to a single field formulation

Part to a single field formulation:  
For a single field formulation:  

$$Ue \leq elve \quad only \quad for u$$
:  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \leq elve \quad only \quad for u$ :  
 $Ue \quad only \quad$ 

DG Page 1



Easier way 
$$V = \begin{cases} V_{1} \\ V_{2} \\ V_{3} \\ V_{$$

DG Page 3